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1. Cloud computing is a new and promising paradigm that delivers IT
services via the Internet as computing utilities. Cloud users can avoid
huge capital investments in hardware, software and other IT assets;
instead, they rent computing power whenever they need it 1 a
pay-per-use manner. There are different kinds ot cloud services. Please
explain the following terms and carefully elaborate their difference.
(a). In your opinion, what is the difference among Public Cloud,
Private Cloud, and Hybrid Cloud (10 points)

(b). What’s the key difference between private cloud and traditional
IT systems? Use an example if necessary (10 points)

(c). What’s the difference between grid computing and cloud
computing? (10 points)

£ WH — ]

(d). Suppose you are an IT manger of Foxconn Group (PEIEEEH)).

When you decide whether your company should outsource your
IT systems to a cloud vendor or stay with traditional I'T systems,
what factors will you consider? Please use tables, figures, bullet

points, or frameworks to explain your opinion logically (10

points).

2. Service Quality is a very important element if we want to deliver I as
a service. According to Lewis and Booms (1983), service quality 1s a
measure of how well a delivered service matches the customers’

expectations. Both SLA (Service Level Agreement) and QoS (Quality

of Service) are well known terms related to service quality. What’s the
difference between SLA and QoS? (10 points)
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3. Apps have been widely used on smart phones such as 1Phone, and
Android-based mobile phones. For ICT-enabled service innovation,
apps serve as a fast prototyping model to allow the ideas to be tested
by the market in a limited marketing cost. In terms of service value

network concept, apps development and deployment rely on the

emergent apps service value networks. Please use 1Phone or

Androd-based apps as an example to describe the service value

network of an app with corresponding value proposition of each role
playing in the value net. (10%)

4. Living in Taiwan, we all experienced the catastrophic lost of human
lives and properties due to earthquakes or typhoons. For example,
the earthquake occurred on September 21, 1999 and Typhoon Morokot
on August 8, 2009 are the most catastrophic events we can easily
recall. They not only caused severe casualty and damage, but also
created turmoil socially and politically. Thus, it 1s very import for us
in Taiwan to strengthen the abilities in preventing and reacting to such
catastrophic consequence caused by natural disasters. In natural
disaster response, information is crucial for quick response in terms of

life rescue, resource relocation, and social stability. Please use

Typhoon Morokot as the lesson learned to propose an Emergency

Response Information System (ERIS) framework to support the field
rescue and resource allocation tasks. Please consider the integration of

information flow (for command, coordination, social awareness) and
resource (including people, equipment, foods, etc.) flow among
different = organizational  entities including  governmental,
non-governmental, military entities, etc. You may recall the major

events occurred after Typhoon Morokot using the attached event list.
(10%)
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9. We all face aging society in Taiwan. Healthy aging 1s the goal for
social sustainability. Healthcare service may reallocate resources
from disease treatment to health enhancement in coming future.
Please put yourself as an entrepreneur running the business on service

innovation. You get an opportunity to design and implement a new
service to enhance the general health condition of a rural township.

Please write a proposal to bid the service design project which 1is
sponsored by the county government. The project could be founded up

to NT$1,000,000. The proposal should include the objectives, the

deliverables corresponding to the key performance indices, the tasks
and schedules to complete the project. In order to ease your etforts

on imaging a township randomly, the followings are a briet
introduction to the example Hou township. (15%)

Hou is an agricultural township located in the middle of Taiwan, where a
creek flows through the township supplying the clean water for growing rice and
vegetables. Half of the farms are not in production since famers are getting old
and the economic returns are not good enough from harvesting. Since it is
located in an agricultural county, the relative qualities of air and water are good.
The total population of Hou township is around 20 thousands, including 60% of
farmers aged above 60, and 20% of residences aged between 20~60, and 20%
below 20. Many households rely on non-agricultural incomes earned by going to
factories nearby. There is a primary and junior high schools in this township,
which take students from villages. 20% of students were born by foreign brides
mainly coming from Vietnam and Indonesia.

For the elderly, 30% of them are taking medicine regularly for their chronic
diseases, such as diabetes and heart problems. In the township, there 1s one
clinic called Jian with one doctor for primary care (ZZEEFEEEN). If the residences
need to go to hospital, it takes 30 minutes to a hospital called Kang in the

neighboring town. There is one community center set up in each village by the
government. The community center does not hold events for residences very often.
Thus, residences in villages do not come to their community centers often.
Half of villages in this township have their community development association

(Tt & E ) set up, but most of them do not actively perform activities in the

communities. 30% of the households have subscribed internet service via ADSL,

and most of the families have cable TVs. People spend their leisure time at

home to watch TV 1n general.
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10.It becomes the trend that government-owned data is regulated to open
to the public in US and UK. Please refer to the attached news report
recently. Imaging that someday in Taiwan we can access the budget
spent by a government on a variety of categories, the trading price of
each property in a region, the students’ scores in different subjects, the
health records of patients, etc., what would be the pros and cons of
such open data act. Let’s take the open data of trading price of
property in a city as an example. If you as a citizen know each trading
price of property, such as land and building, what would you like to
use this free information? Now put yourself as an entrepreneur to
launch a ICT-enabled service company to add value from the open
data from governments. Please take one data source from one

ocovernment agency as _an _example to demonstrate your business
model. Please highlight and explain your technology essential to the

success of your service delivery, and the revenue model to sustain
your service model. (15%)
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